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Sr.

No.

Psychology
PAPER II
Match List | and List Il
List | List 1l
[a) Yama i) helps assure equanimity
(b)  Niyama (i) reduces Somatic and emotional distractions
(c) Asana (iii) reduces interpersonal distractions
(d) Pranayama (iv]  Somatic distractions are reduced
Choose the correct answer from the options given below
cutiens | oML sutiens Il - GreRTan LW LIUTHSSaD &
auflens | auflens I
fa)  wmom i) suBlmaeau 2 FluESs 2 gl Osligs
6]  Hlwmor i) 21 Heag sbuhsLULL WHDID
2 emriEd Wisuomer sausrs Fsmsosmer
(c] susem F alsemsE @olbu saarFflanasamens
HTDES0
[d}  SgmesmTmumom (V]  =Lmsam FLUBSLULL ST
FlemeEamars HEnnES
&Gy Banpasuulpameraunfiss gGsgb geatenms Caiey Clelweyn
A (a)~(iii),(b)~(1),(c)-(iv),(d)-(ii)
(a)-(iii),(b)-(1),(c)-(iv),(d)-(ii)
B (a)-(ii),(b)-(iii),(c)-(iv),(d)-(1)
(a)-(ii),(b)-(iii),(c)-(iv),(d)-(i)
C: @-(iv),(b)-(D):(c)-(i),(d)-(iii)
(2)~(iv),(b)-(1),(c)-(1D),(d)-(iii)
D (a)(ii),(b)-(iv),(c)-(1),(d)-(iii)
(a)-(ii),(b)-(iv),(¢)-(1),(d)-(iii)
Match List | and List Il
List | List Il
(a) Niskriyatram i) working without expectation
(b) Niskamakarma (i) Purposes and thoughts
(c) Budhi (i) not doing anything
d) Manas liv) faculty of determining

Choose the correct answer from the options given below

sufleme | whmib suflsne | - @retorenLujb Glummsseyb :

aulflsma | aulflsma |l
@ Aesdflursro () eiumiiy @emmos ustfise
(o)  hlegsmwsiom (i) &M &GaTeiTes (STHLD, STEvITEITRIS(STHLD
[c]  ysd (i) ermIeyGw ClawwTS (KBS0
(d)  wevreiv liv)  &iwmesfléEw g mhmeo

£1p sumusussumils sflwrear LuSlenevs CoTe Clelwsyb

Az (@)-(1),(b)-(ii),(c)-(iii),(d)-(iv)
(a)-(1),(b)-(ii),(c)-(iii),(d)-(iv)
B (a)-(iii),(b)-(0).(c)-(iv).(d)-(ii)
(2)~(id),(b)~(1),()-(iv),(d)-(ii)
C: (a)-(iii),(b)~(iv),(c)-(ii),(d)-(i)
(a)-(iii),(b)~(iv),(c)-(ii),(d)-(i)
Do (a)-(iv),(b)-(iii),(c)-(i).(d)-(ii)
(2)~(iv),(b)-(iid),(¢)-(1),(d)-(ii)
is the meditation procedure that involves concentration on the body or its sensations or the insights.
2 | 6960 HEUETS MG 3I6V6VEI I S6T 2 60T FeNle06r VeV E! 2 L ST Fenul 2 _6TeTL_&&H WG

A: Pradyahara

_ Swmer (pemm SGLD.




Ug&Wmasmym
B: Darsana

SIFerT
C: Pranayama

LN mewoT WL m
D: Vipassana

ellLIm&eorm

How many Pranas are there as stated by Advaita ?
GG HEF6T LI 678556060 LI [T Teo0T60T8: 6T 2_6TeImeoT.

A: 2
2
B: 3
3
C: 5
5
D: 6
6

Questions like 'What is knowledge ? And 'what is truth ?' are mainstays in the branch of philosophy which is known as
2N16) ETEOTMITEL ETEITEUT, ©_6TOTEMILD 6TEOTMITEY 6T60TE0r? GLIMEITN G 6Tl & 6T &5 G615 S 6ot RemeTufedr LSRN W
SIIDEFBIGETTSSE & ([H5L1LI[H G 6T meoT.

A: Logic
umedlgs
B: Epistemology
erLfle@LLomevgd)
C: Metaphysics
QLTSS
D: Aesthetics

PG (6TUIENVS19.85)

Match the Indian thinkers with their philosophy.

(1) Integral Spirituality (@) Swami Vivekananda
(2) Vedanta and Raja yoga (b) S Adi Sankaracharya
(3) Advaita Vedanta (c)  Sr Ramanujacharya
(4]  Vishishtadvita (d)  Sr Aurobindo

B b #1556 BT ILHTET {6 (6T L6HT DieuT & EmenLI &5 Sieukimkener ClUm(hsg)e :

(1) @musubbsib ssmbsn (a)  a&eums) eNGeummeammbar
(2) Ceugrhgm whmib rreturs (b) Wb ) FrumgnEFTTWT
B spoaussTCugrbe ¢ 16 prongygésiwm
(4) eflefssmieiam d) U s OECHT

Az (1)-(a),(2)-(b),(3)-(d),(4)-(c)
(D-(2),(2)-(b),(3)-(d),(4)-(c)
B: (1)-(d),(2)-(2),(3)-(b),(4)-(c)
(D-(d),(2)-(a),(3)-(b),(4)-(c)
C: (1)(0),(2)-(2),(3)-(b),(4)-(d)
(1)-(¢),(2)~(2),(3)-(b),(4)-(d)
D: (1)-(),(2)-(d),(3)-(c),(H-(a)
(D-(b),(2)-(d),(3)-(c),(4)-(a)
A leader who focuses on work without paying attention to the fruits of the work is
616 LNITHLIeuemeT WD 6TH TUMTHSTLOMN (DWW WMHFILL 6T Calemev QF I &Hem6eValTf 6Telel MMl {emLpd&LILIGGUITT.

A Legitimate leaders
(LPEMMUWIITEOT &60)6V6U 86T
B: Sannyasi leaders
FOTWITH H6m606lT56iT
C: Pragmatic leaders

560 (LDEDIMN &FH6M6V6U TG 6T




D : Karmayogi leaders
STCWITS HemevalFaser

Name the book that William James wrote

afleuedlwih GLh6N eTWH W LGS &S 60T QLW eTedTeoT ?

A': The Principles of Structuralism
& Lennlier gl & CamLLmB&er
B: The Priniciples of Psychology
2 arellwedeor GamLLIMH &6
C: The Priniciples of Behaviourism
BL &0 & FH Wmesr G L LIMH &H6T
D : The Prinicples of Functionalism

QWML (R FH wmeor GamL_LITH &6t

What is the Guna's theory term of activity and dynamism?

&6eooTE GaHML_LIMLIQ60 QFWeLLIMH MHMILD LILGaIM @)UI&E Blemey GNl& @& Q& mey LG LD.
A Sattva
FHeUm
B: Rajas
yege
C: Tamas
SLoen
D: Thabus
SHLIeV

Buddhist Psychology essentially attempts to understand the nature of transcendence and the methods of attaining it. what is the technical term for transcendance
in Buddhist philosophy ?

b Blemeven il LS8 Q&TETaISNEGWD 360G S{6MLAISME ST (Wenmen MBS Q& maTer WWHS QFliag LSS

MG 2_emeilley. FMHSLOMET GLIEVTET G 6V&HMS GMIGHG LD HEneVE Q& Tey GTEOTLISMGLD.
A': Vipasana

eflurgeorm
B: Asana

SLFGTIT

C: Nirvana

51 [T 6 TewoT IT
D: Samadhi

FLOTH

In Regression Analysis, the sum of residual is always equal to :

LNetreoremLe] LIGLILIMUIaNGY (Regression analysis) , 6T€5 & W 6Te Sal (D& QF TS @SN ESE FLOLDTETSI

A 2
+2
B: -2
-2
C: +1
+1
D: 0
0

Which of the following are true about situation sampling :

(i) Situation sampling involves studying behaviour in different locations and under different circumstances and conditions.

(ii)Situation sampling enhances the external validity of findings.

(iii)When researchers are interested in events that happen infrequently, they rely on event sampling.

LD G5 600T L6 HMIET 615! G LpBleney LMHfl WemmLt LUmmlw FflwimeT USRI WD o,@&LW0?

(i) GLpBlemev LDMHF] (emm 6TETLIGI, LIVGIMI &H6ThIGe 6, LIsuGalm @GLpBleneudarley, LisuCalmi Blenevsserfley,

&6 UGG S TETEUS TG LD.

(i) @& L6 LA Wemm, wWigeyserfleTr QelefGuwMmLiLmLemnaml AR &HER S

(iii) TLIQUIMWD S MU [B1& (WL [Bl1&5LDa|&HM6T U160 CLOMO S TETEELD QUIMTWLS ST TUIFRWTETFSH6T GG InmH ] (penmenil
T(H &SI QG&TETRUITI.

A (i) and (ii) only
(i) LDMMILD (ii) WL HILD
B : (ii) and (iii) only




(ii) LMD (iii) L GILD

C: (i) only

(i) LD
D: (ii) only

(ii) L ()LD

Match the following :
(1) Case study (@) Performance has reached minimum in
any condition

(2) Practice effect [b) Cannot maintain fypical effectiveness

(3) Disruption effect [c] Intensive description

(4)  Floor eftect (d) Repeated measurement

LILM(MSEIS :

(1)  eeomsT LTSI 2y iiey (a) ebs @HWwblemsoullayb Clewhum(p
BpeullBe

2) ulnHF eflenarey (b) eupsswTeT ClFwsiSlpeneaT
ugmwifl&s WigwimenL

B Qe eflsmerey (0 phel efeuflsse

(4) semallemeamey (d)  Blmbu sismei() ClFligsed

A (D(c),(2)-(d),(3)-(b),(4)-(a)
(D-(¢),(2)-(d),(3)-(b),(4)-(a)
B: (1)-(b),(2)(c),(3)-(a),(4)-(d)
(D)-(),(2)-(0),(3)-(a),(4)-(d)
C: (D-(a),(2)-(e),3)-(b),(H-~(d)
(D-(2),(2)(¢),(3)-(b),(4)-(d)
D: (1)-(c),(2)-(d),(3)-(a),(h)-(b)
(1)-(¢),(2)~(d),(3)-(a),(4)-(b)
A researcher tested 40 children aged 6 years. Each child engaged in a task where they had to use two dolls (one representing themselves and one representing a

teacher) and they had to enact a time when their teacher had been angry with them. All children were video tapped and 20 children were told that their teacher
would see the tape and 20 were not. what experimental design has been used ?

@ 2W6UT6TH 6 UGl BIFLLIW 40 GLOHENSHSH6T 16| QFWSTY. RelQ6UTH GBS WD @) T6uor(h GLITDE0L0&6TS
Q5 fle) QEwIWbh Liewlenl GLom G & ITesorL6oTlT; 6260TMI HeaTemeT G LITH LI ILISTSH LD, (DM MITETN &BIGH6TS

L AAwen Tl NFHUILILSTEA LD MBS, ShIGTS P LT ShigGeT epeulh GaHMULILLL Bl&Lpenal 661R6aT(H
GLPHMSWLD BLLS SIS HTLIQUISI. 6TeV6VTE GL0H6m &85 6rfleT BLYLILID LIL LTSS LS. 20 GL0HenSHSH6T Blq&HS L9 LiemL
A FlWIFS6T LUTTLILTTS6T 6TedTmIlh, LG 20 GLRHenSE 56T 9SG B L1enL SR FWTS6T LMT&e ML LTI&6T erermild
QEFMLEVLILIL L GI. 6TedT60r LOMSFlWITeor C&F TS 6menT QyUl6) HLSSLUILIL L &l ?

A A mixed model design
seuliL) TR ellgelemioliL]
B: A matched model
QUTBHH W TH allgalenoLliL]
C: A mixed evaluative model
seuliL LHILT G wr& il eugenioli]
D: Between subjects design.

MRS EH6E ©)60)L GUIWITET 6L eUemLOLIL]

Which of the following are the strengths of observational studies ?

(i)Produces immediate data on real behaviour

(ii)Can gather data on behavior which is not amenable to experimentation

(iii)Can identify cause and effect.

L9 60762 (15 61 60TEU D MIGIT 6TFI 2 MM CHITEH G 2T MULIFRUINET [H6TEmLD &L &Lh?

(i). e(H6U 60T 2_600TemLOWIT6OT L SenGemnll LIHMIW 2 L 6oTlq 76 &emensd Sl (iguLd.

(i)). GFMBHMETEG 2 L LG SSWIWTS belflar L GHenGen LMl SI6y&Henerd C&afl6e (LpiguLD.
(iii). STFevOTLD MM eilemeTenel Si6mLWITETLD &6u0T(H G & M6T6T (LOLg U LD,

A (i) only
(i) LLGID
B: (i) and (ii) only
(i) InHMILD (i) L H)LD

C: (i) and iii) only
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(i) LOMmILD(iii) L @GILD
D: (ii) only
(i) L (BID
In the method of Equal Appearing Interval, the Scale Value of the item is indicated by:
Frflwmer @emLQeuefluley Gxmearmih auldlwenmuileTLly , e QUMB6leT Slememeu LOGHLILIH @ eueurm GM&&LILGGR DS :

A Standard Deviation
QULNG&LOITET ell6V&H 60
B : Quartile Deviation
STLLGS LIMLDFF 2j6vev&l afl6ua 6L (Quartile Deviation)
C: Standard Error
QUGG L0ITE0T FeUml
D: Median
1519 w1 edT
A 3 x 3 Mixed Factorial Design uses five participants in each cell of the design. How many participants are needed for this purpose ?

3x 3 SHeVLILIG SITIeufWMeT allgaleminliL] e@elQeumh SeoflliNflallanin Bb& Liki@ Q& meTLaIT&am6TL I LWaTUGSSHMmSI.
QBMEHTS 6155660 LIMIEG Q&TeTLTSH6T GHemallILIGGRMTFEH6T ?

A: 9
9
B: 55
55
C: 45
45
D: 15
15

Logistic Regression is usally applied during:

omedlevlg & LNeTeoremn e Bem L (nemmLUILGSSLILIB6US HMTVSH 60

A': Predict a continuous variable from dichotomous or categorical variables.

QSTLY MN&emer CaumiLI(RSSID S6V6VE @)1 aUem&LILIGISSILD DTM&ET eneuld (eTe S &H60
B: Predict any Categorical variable from several other Independent variables.

@\ aumSLGSSLILL L Inmml&erfler Blesheanal L Seflig @umbiGLd nmnlserfler Blapeledmns! (a6 srlsen
C: Predict a dichotomous variable from continuous (or) dichotomous variables

@ ® auemaLILG LD Wmplserfler Bleshanals Q&ML Inmlserfler epneulnmsCalT @@ alan&LILIGSSID WM& erflet
PLNEVLDMTEHBEUT (LNETA S H60

D : Predict continous variables from Extraneaus variables
QG TLY oMM &emeT Qalefl FTIHE TMIG&ET epevld (NeTES I EH60
refers to the rights of individuals to decide how information about them is to be communicated to others.

GTEOTLIG S6ofIILIL L BLIT&ET ShigGemarll LM Q&FUIH &6 eTliLig Inmmeujsenart CUMLIE C&r Gausuor(hLd
GTaTLIENS & G LILGTESLD.

A Informed consent
QEDILIEEENINETY
B: Privacy
SeofllILL L& Sebremin
C: Confidentiality
THAWIDTS M6IS SIS Q& TeTal S
D: Integrity
I5T600T WILD
Assertion (A) : Psychological testing’s are used in organizational setting to test the employees personality, Interest and attitude.

Reasoning (R): Understanding the Employees personality traits which helps to improve cohesion among the members in the team and their ability to perform
the given tasks in the organization.

Famml : Blmiaier oennlililey 2aridluwirgerfler oL EBemin, S, Falld InMHMID eTLILITETen e CFMH&HsH 2 arailiisy

BF TS 6T 6T LIW6T LB & & LI (H) &) 60T M eor.

STIeOuTLD : [BlmicueTgHaveTer arflwifgseflenLGu emmiennenl GLODLI(H S 6D, BlmIeUaTEH 60 Q& MHI& LI L
Lieoofl & 6m6md Q&I Hmemeot GIDLIHSS 6D, 26rSWFgerfl 6T oL,EBenLnl LIGTTL|&Hen6TL LD aleTI&H &N 2 56|H M.

A . Assertion is true, and Reason for the Assertion is valid.
Famml eTeTLIG Fifl LDMHMID Go MGG TET SITTEO0TID MG Q& TETETE FanlqUISI.

B : Both assertion and reason is true, but the reason is not a valid explanation for the assertion.
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FaMHMI LOMMILD &TFEooTLD G TevoT(HILD Fifl, 2 60TIT6V o (D MIEH G TEOTSTITEOUTLD 6T60TLIS! 6 (D MI &G\ & T Fon LG W6 618 & LD
3|6V6V.

C: Assertion is true, and reason for the Assertion is false.
Faml TS &l QLE0TITEV Fo (DMIG & TEOT &ITTEUOTLD G56U M.

D : Both assertion and reason is false.

FaMMI LDMHMILD STTe00TLD @) Fevor(HILD HeUml.

Arrange the following steps in the correct sequence for effective item writing.

(i) Determine the format and structure of the test.

(ii) Review and revise items based on feedback and item analysis.

(iii) Clearly define the learning objectives or skills being assessed.

(iv) Pilot test the item to evaluate their effectiveness and clarity.

LIWIEDI6TeT 2 (BLILI MW 6T BIelSH& T LNaTauBLd L &HeneT Fiflwmer auflengulley Blenev o0& & :
()CFMHemeuTUI 60T 6l eULD LM MILD &L L emLoLlenL! BFL0mefl&aea)|h

(11)53@5@ LDﬂ)QJLD &@I_IIJLQ. IJ@I_II_IITU_IQ.l QJI_Q.LIIJGU)I_UE]GU &@UI_II_Q.BBGG)GT LD@I_ILHTUJGL] QH:UJQJ @@Q’)Q’)QJLD
(LS N LIL@ID &MHmev CHITE: & Mg 6T gqeua)gj @msﬁrssemm Qs eflaus alemyuwms&Hea]|n.

(iviemLeUL. GFMEem6oTUI 60T 66l Q6UT([H 2 (HLILILUILD SleummleT QF WG medT hmild Qgeflene LHLILNHeUSHES
GFMH &5,

A: 3214
3214
B: 3142
3142
C: 2341
2341
D: 1342
1342

implies uniformity of procedure in administering and scoring the test.
GTETLIZI (6 CHTemal aulfBL SSI61SMEHGD LHLILTH QFLeUSHEHGLD ETTer Weammenidh GMILILGSTGLD.

A Administration
BlJeumssL0
B : Standardization
STULOSSIS6V
C: Directions
&SI (B S
D : Interpretation
elleTg &L
Which of the following is a primary focus of the Strong Interest Inventory (SII)
QUSIATEDT Qb FeULD S56vorLilu]h LIL_1q.uleS6dT (SII) (LpedTemLn CBM& S 6TS 2

A: Assesing Cognitive abilities
nfleurmmev Hmersener LHLILNH &6V
B: Assesing vocational preferences
Qs mdlevaseval allpLiLImIGemeT HLILNIH 560
C: Identifying personality traits
3L EHENLOEM L 6D L WITETLD &5MTETI & 60
D: Evaluating Intelligence

nfleummmenev LG LILTH Q&FUIE6

Which of the following statements are true regarding the applications of psychological testing in various setting ?

(i) Psychological testing in clinical setting focus on diagnostics , treatment planning and progress monitoring.

(ii) Psychological testing in clinical setting focus in helping to assess client’s personalities and coping

(iii) Military Career guidance utilize psychological testing solely for academic.

LI6LGaIMI G&LPeuserley 2 emallilicy C&F g emenraerler LILeTUMH&6T QEMLFLImS Leral(®ld gammiserfley et &ifl 2

(i) LDBSSI6U Sjemnlillley 2 erelluley CFMBeneT CHTWNM S, AGHFens G L AL 60 LoMHmID W eTCeTmHM & 600Td MevofLL|
A WaIMHMIE &HalaTd QFISGSRMSI.

(i) LD S Sl6U MLV 2_aTelich G&ME 60 60TWITETS! 6UITLY 860085 WITET160T 3, @hemn g emaT S LILIHeusSmH &L
FTalLUSHEGD 2 56|6UH 60 HeUTD QFNSSIT M.

(iii) @pmemiel Lieoofl aulfls Tl G1g60 2 amailile) GEFMEHemeenl &evall&a& TS L BICW LIWeTUGSSIRMSI.

A (i) only

(i) LLGID
B: (ii) only

(i) LD ()LD

C: (i) and (ii) only
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28

29

(i) nMMILD (ii) L H)LD
D: (ii) and (iii) only
(i) DM MILD (iii) DL HID
An indicator of reliability based on the correlations of each item in a measure with every item is called

R6IQEIMH 2 (BLILIGUILD LDMHM 2 [BLILIGU|L 6T 2_6Tems QS TLTLNemeor 2j1q.L1LINLUITSHE Q& MeuoTL BHLOLIG S S 60TenL0n
6T6OTMI BeMLP&H&HLILIB S

A Split - Half Reliability
UGS 1560 BLOLIG S S 6TenLD
B: TestRe - test Reliability
BFMHemen- LM LIFIGHFTSemeu [BLDLIS S 5 e0TemLn
C: Internal Approaches
2 6T | &0IS (MM 6T
D : Cronbach's Reliability
SIITETLITE: &) 60T [5LOLIGH S G 60T6mL0
Construct validity refers to

S LN gFMHLILIEDL &S 6TemLn & GMERMSI.

A Alogic link between research instrument and topic
UTMUFSR &m0 HMULILGGLID 6L G (b FT55 @) 60 euorLL|
B: How well or best an instrument compares with second assessment concurrently done

@CT CBISHL QFIWLILLL @reorLmeug G LT LT eLILNBHD CUMSI (b & [Hel 6T61aI6TE) HETMTE V6V SI
FALILUTS @5SIL CUTHMSI.

C: Statistical procedure establishing the contribution of each important factor
261N (&S W Lnmet &Tyevsilufler LimkigerfllienLulb Bloie|n LeaTefluiuwe Q&wed wenm.
D : The degree to which an instrument can forecast an outcome.

2@ &6 6THS SeTelMHE QB (LNIE6US &Heoofl& 8 (LI U|D

Which type of reliability assesses the consistency of the scores obtained from different halves of the same test ?
6T MR flWmer BLOLISSS6Tenn @ LFCFTHmeoruller QeausiCaum @@ LTS LIKIGSHEE5R LG 865111 GLITSE 606
LHUINGRDSI ?

A Test - retest reliability
CFMH6EM60T LD M GFITHEM60T [HLD LIS GG 60T6MLO
B : Inter-rater reliability
WL LTI&EH5E @ 6mL GUILLITET HLDLIG S 60TemLn
C: Parallel form reliability
©)60)600T U6 [FLD LIS &G 60T60)L0
D: Split half - reliability
Fifl-un® N6 560 BIDLIGS S etTenLn
What is the primary purpose of test Standardization ?
GEFMHem6aTs SILILM G SIS 6960 (LNSETemLIN GlBTE LD 6T60T60T ?

A: To ensure all test taker receives the same question
BEFMHeman G5 Fenal GLMGS&TETLICUTSHET SemearalBld G allgLnmer CH6Talls s Tamner QLMIIMS 2 MIFH Q&FIHe60
B : To increase the tests reliability
GFMEmeTs G Teler BLOLIGE ST 3(F& LILI(H S SIS 60
C: To establish a baseline for comparing individual score
Seofl BLTG& 6T LS IG LIctorgen 6T 1L Q&FWIW @@ 19.5CHTLenL Bl Ferorulls s ev
D : To make the test difficult for advanced participants
2 WIFSTLOMET LIMKIEG Q& MeTLATHEHHEGHH QHTHESELILGILD CFMTHemn6T GL6VETLINMS @)(HSHH60

What does norm provide in the context of test interpretation ?
2 (H CFMHE0 60T al6Md: 8 % H 60T CLIMSI, QBMI(LOem mUI6DT LIMIE eT6dTeor ?

A: Areference point for evaluating test taker performance

2(H CFMH6Ten W CLMG & TeTLIef6r Q& WS mener HUILTEH Q&b GrlliLL LeTerfl
B: An indication of test reliability

@ (H C&MHe0 60T W60 HLDLIG G S ETenIN6MLIS GMI&EGID MG

C: Information about discrimination

UmTGUT®H UmHMlw S&Heu60




D : Criteria for establishing test validity

JHLIL0L 55 60Tem0emUL Bl M6 61U SN ST 3668 G5 M6V & 6iT

30 Which of the following are true about glandular secretion?
(i) Posterior Pituitary releases oxytocin
(ii) Pancreas releases Insulin
(iii) Ovary releases ACTH
S 56T 2armigedemeot 1 LMW SLD&SH600TL 6THS Ja MMIG6T FIiflWimeTeneal ?
() N w,flufedr (ewemerwiig & &l terumsid oL&RCLTRamear QeuaflulGSHmsl
(i) SemeuoTWILD @)\ 6iTa606menT QelefuIBH R M
(iii) BB LML ACTH-3 QaleflulbH @ m sl

A (i) only

(i) LLGID
B: (ii) only

(i) LD ()LD

C: (i) &(ii) only
(i) & (ii) LDL(ILD
D: (ii) & (iii) only
(i) & (iii) LOL(HILD
31 What is the anterograde Amnesia that is resulting from Thiamine deficiency, typically found in chronic alcoholics ?
GMILILUMS QSTLT S9N S peTerTalFaerflL LD &meuoriL(BHID &UWITEnLN6IT &6 MLITL Q606 g MLIBID LT CrmRCI(H
| D6FE WIIT 6T6OTLIS! 6T6DT6T ?
A': Androgen insensitivity Syndrome
2T G TR6T @ T &Fear FILIgelL g Fevorl G
B: Karakolf's Syndrome
HTCSHTSLIEN Flevorl_ G

C: Broca's Aphasia

LCTT&Ten & &@UGIWT
D: Dementia
19 QD GTOTE W
32 Which structure is responsible for controlling voluntary movements?

6TH& G LemLDLIL] STeTMH QFWLGILD en&Fa|sem6Ts &L HILLB &SI QumTmILiLNe o dTers ?

A: Basal ganglia

GUIF6L GHmIeSIWIT
B: Hypothalamus

QM LIGLIMTSEITITLO6EN
C: Hippocompus

a1 GUIMG&LDLIGN
D: Cerebellum

QFflausveuld
33
Match list | with List Il
List 1 Listll
a. Radio frequency lesions | Flurogold
b. Refrograde tracing I Destroy only cell body, spares axons in the region
c. Fix.Slice and strain (] Electrode destroys all brain fissue
d. Use excitatory aminoacids IV Assure location of lesions
Choose the correct answer from the options given

LI IgList | g9 L IgLiel eTasar I @ L aiT GILIMhS S5,
UL iguien | UL iguisn I
i) GmgGuwim gglriélsyss'vr [a) EANT S (S T
2yemen £ engase6r

i) NerGmmsslu (b] 2 ulgamieder 2 Lsns wLHED
Gz SUOEEINS). SyrhiEeirar
S HBETEITENEN (ax0ns)
efll (RleflHlE mg
(i) Hlemaluflsssy, [c] UleiT sumis SysmeaTs, EHIETTE
- slemfplupisse @&$5mmmmgﬁ mal
Bl &L (B F60
fiv] SETIEALLLFHID d] Fenzsymeflar GrUiLgeng
2l Gaarm 2 mifl ClElSns)
aydleo &enemL
LIwsiTU(f) & S e

£Cu Canflasiul fGerar efimiu Caieallsdmbg #flumaTang,
Garkblshas:

A adll b, c-1, d-IV
() - (c), (ii) - (b), (iid) - (a), (iv) - (d)
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B: a-ll, b-1, c-1V, d-1I
(@) - (¢, (ii) - (a), (iii) - (d), (iv) - (b)
C: alV,b-II, c-I, d-I1
() - (d), (ii) - (c), (iii) - (a), (iv) - (b)
D: a-IL b-L, c-1V, d-IIT
(@) - (b), (i) - (a), (iii) - (d), (iv) - (c)
Identify the term for circuit from sensory neuron to muscle response.
2 6T FH 6T BlW,Tmesll60 @) (hHS! H6ME SHI6VMHIGET 6UemTUNCVITE &M MIG ST GIFTEVEMEV 2|60 LITEITLD &IT6uoT6)] LD

A': Neural Path
BILDL LITen S
B: Reflex Arc
feliQergen o8
C: Reflex Ganglia
flaliQergen Gasmigedwm
D: Efferent Neuron
6T @ LIT6oT L B WL, [T ITedT
What is the inability to recognize faces called ?
(NGBS ENET S|6ML_LITETLD &IT600T @) UIGVITEMLD 6T6IT6TRaU6TMI SIeMLN&SLILIGR M SI?

A: Aphasia
SfSUTRIWIT
B: Ataxia
S Lm&erolwim

C: Amnesia

@TUSLMS

D : Prosopagnosia

LUgCaFmUSGHTRWIT

Organize the layers of Retina in order toward the centre of the eye .

(1) Layer of photoreceptor outer segments

(2) Outer nuclear layer

(3) Inner plexiform layer

(4) Ganglion cell layer

& 600T600f 16T WG emns CHMTESR alfGHenT B &SGH6T auflengLiILbH &S56)LD.
1. N PlEHemngullest sperfl eummI& QeuerflliLiGS

2. Qeuerfliym BluwsReflwl sho H&S

3. 2 Ly WeTeoram sperfl aummai & &mHmi 2H &S

4. BOLDL SF6T 2 ulTen G &HGS

A: 4,3,2,1
4,3,2,1
B: 1,2,3,4
1,2,3,4
C: 2,4,1,3
2,4,1,3
D: 3,1,4,2
3,1,4,2

Which of the following statements are true about James-Lange theory .

i. A person's physiological state provides clues for the identification of an emotional state.

ii. We feel sorry because we cry.

iii.Simultaneous activation of physical responses and the recognition of feeling occur independently.

iv. General arousal leads to Cognitive Assessment

GgLhev eMMHIGS CaHITLLIMEH LMW LNeTalBLd o mmisserfley 615 2 _amrenin.

(i) e BLIfledr 2_Ledlwiey Bletey 62(h 2_6t0TTEFH BlemevemL S|6mLWIMETLD &IMeuol Q&S M

(ii) IFITLD SI(WD6US TV 6UBHSIBEMITLD.

(iii) 2_L60 FEWITetT SleumIGHemeT RCT CHISH 6 QFWLIMG SIS 2 corianal ABIS&FILILSID &UTSarons Bl&sLHms
(iv) QLITSIEUTE SIT600TL 6V 2_6morje] Hmlaummmey HILT 19N & euflalGERma!

A: (i) only
(i) DL GID
B: (i) and (ii) only
(i) LnMMILD (i) LD

C: (iii) only
(iii) LOL(BILD
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D:

(iii) and (iv) only
(iii) LDMMILD (iv) L H)LD

Mutated genes are also called as :
WIHOUILL L DF L0188 6rfl60T L0.MmIGLIWIT TeTS!:

A:

Natural genes

@ W MM LMY LISTDI 8> 85 6T

Knock out genes

QeuerflGuNIW LD LI DI85 &5 61T
Duplicated genes

536V 6T(N& & LILIL L LT LISt 8585 6T
CSB

CSB

Match types of forgetting with their description.

TYPES DESCRIPTION
Enceding failure A.  Olderinformation already in memory
interferes with the retrieval of newer
information.

Decay or disuse B. Information not attended to and fails
to be encoded.

Proactive Interference G Newer information interferes with the
refrieval of older information.

Refroactive interference D. Information that is not accessed

decays from the storage system over
fime.

VDESL wmssmar Jupifiar eflafloysemLs Qunmigs:

i

i

()

BT wilafiing

BESLLTEEeScr Cpmisad) (o) Pemeraimppeis: ghseGea adrer
e S5, Bl seaenes
Hpoud Qupaue Fenyim
TG BEINDE.

Hlengay sdie0g LweTUN R ETEnLD (b) SsuerliuLmg S wHEb
EEEREeTS wTHD Seunflug.

werGarrafiu mosdid ]  YFu SEsusumatsl UEnW SEEUME
[C] &?@ #

BB E s @ ms. Jor.T8
SisrGermadiu @radis (d) g:&tﬁ;ﬁﬁ\;g&:;tg;; H GG

AengeuenLilmg.

1-A, 2-C, 3-D, 4-B

® - (@, (i) - (¢), (iii) - (d), (iv) - (b)

1-B, 2-D, 3-A, 4-C

(® - (b), (i) - (d), (iii) - (a), (iv) - (¢)

1-B, 2-C, 3-A, 4-D

(® - (b), (i) - (c), (iii) - (a), (iv) - (d)

1-D, 2-A, 3-B, 4-C

(@ - (d), (i) - (a), (iii) - (b), (iv) - (¢)

Which of the following is NOT a monocular cue for depth ?
B LD G5 600T L0 6U G 6fl6L 6TF1 LS H M EHTET (15 (LN DM FLO&HE0 65 2J6V6V ?

A

The

Convergence

MIOUWIGMS CHTHERF QF6LaNIS6

Relative size

2 _(HEU6TE RLIL|MS

Overlap

60T 60T LIGH e LDMHEMTETM DM MLILIG!
Accommodation

2DSSOT DEFFSS FHMIS6ETET6TE

weakens responses that precede occurance of stimulus.

ST (hS6V BlHLINEG WNETUNS iGN M6t 616066 & 60) 6T

A:

Negative reinforcement
THTallement 2ars @ el &5 60
Positive reinforcement
GBI M 2618 G 6 & 56V
Positive punishment
Gryellemet Sevorlq 5560

Negative punishment

SETIER oL W& QEFURMSI.
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TH TallemeoT G 60019 & &6V

The strong CS can actually play the part of a UCS, and the previously neutral stimulus becomes a second conditioned stimulus. This process is known as

62(IH QUSIETET CS 2L60TSI, 6(H UCS-60T Lilen s 2_eooTem UGG QFWLLIMBISS (WDIGUJLD, LnMHMID (WPHeNS W FTFUMHm

ST (H G560, (H @T6vorL D QBEMILILGSSLILLL STer(h&evTs AUHMSI. @b 60 L (LM

AfWLILGRmS!.

A': Higher order conditioning
GLO6LBIem6L Blemeuu Mg S0
B: Stimulus generation
SeooT(h &6V QUMSIENLLILI(H S SIH6V
C: Extinction
wHdlib oiflge
D: Spontaneous recovery

UL LUUL TS LE6TOLLp6Y

Match the kinds of Extra Sensory Perception (ESP) to their description.

KINDS DESCRIPTION
1. Telepathy (5 13 See things that are not actually present
2. Clairvoyance b. Know something in advance
3. Precognition c. Distance feeling

ysvsityms Clafleflsir (ESP) suenssener sysmeuss sttt sflsurfl 560 LsiT

Clummsgs :
®%u%1555'rr eflsurflliy
(i) GLeSlug (a) e-chmenouiley
@leusumseumhenms SmeTUg)
(i) OzefesHmpes (b) Heveupenm wpsirersneCeu
s fihg) ClemeT(Ehssd
(i) petremilBed (c) &I 2-ewrjey

A: 1-a,2-b,3-c
(@) - (a), (ii) - (b), (iii) - (c)
B: 1-c,2-b,3-a
(@ - (¢), (ii) - (b), (iii) - (¢)
C: l-c,2-a,3-b
(@) - (), (ii) - (a), (iii) - (b)
D: 1-a,2-c, 3-b
(@ - (@), (ii) - (), (iii) - (b)
Who developed the law of effect ?
aflemeTay lGleml 2 (BTSSR WIS WITT?

A': Thorndike
STIeTenL 5
B: Skinner
6 & eoTeor
C: Pavlov
LImeu@eurmey
D: Freud
ST

Which of the following statements are true about Ivan Pavlov ?
(i) He was Russian physiologist

(ii) He wrote basic principles of classical conditioning

(ii1) He conducted experiments on cats.

@) 6umedT LIMeuGeuimey LIMW GBLh& & 60T S miserflev e1gl Frlwmerg ?
(i) Q6T @ TeqW 2 L 60luI6h eUeLENBI.

(i) S16UF Q&5 Blemeuw MG s LMMIW g LIl L& &ML LITH &6m6 6T(LS 6.

(iii) 316U L0 60TUN 60T LS He0TSHI U161 56016 HL5GH6OTITI.

A: (i) only
(i) LB
B: (i) and (iii) only
(i) LM MILD (iii) LOL_(HILD

C: (i) and (ii) only
(i) LnMMILD (ii) WL HLD

eT60T
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D: (ii) and (iii) only
(i) LDMMILD (iii) DL HLD
The main reason for inaccuracy of eye witness testimony is:
& 600T600T M6V LIMITE S 61 16T 61 TS & e 6V 5SS 60T S16065 WL eTemLN & & (LN&SH W &ITITesorLD.

A Proactive interference
WETCETTSH G S GM&E D
B: Retroactive interference
NerCeors &8 GM185SH
C: Forgetting
Ta]op)=3¥: 1)
D: Schema
LDEUTE &L L emLoLIL] (6VELOIT)
‘Which among the following does not come under law of perceptual organisation ?

B LD 55 600TL60) 61 5561T1 60 6TSHI LIuenietoT 6 2jemlnLliL] elGH uler SLb el HeUDH evem6v ?

A Law of effect
aflemeTay NG

B: Law of proximity

BT G
C: Law of similarity
R5H G556 6ilF
D: Law of closure
eL 6L NG

Assertion (A) : Group think frequently results in sub optimum decisions. Major cause of group think is anxiety.
Reason (R) : Group members are anxious, likely to explore new options and try avoiding conflict and agree with the leader's decision.

FaDml (A) : G PHSENET QULPEHSHINTS 2_&HS (P16 &H6T T(H&HS 2 Ha|HMS. G FiHSmeTsHE (NS &ITI6oorD
USMmMmLD.

SITIeuoTlD (R) : G 2 It F&6T LSMHmIDTSG @B G0 QUTWS LSILLS! & (555155 6m6T Qa6 &6 & meuor(h 6u(HeTigs 6T
MOHMID W FeooTLMTH&e06TE Sellf&HHS &emevalfleir (DL96)L 6T &SI GLImal.

A: (A)is true but (R) is false.
() &1l Qe (R) Sl
B: Both (A) and (R) are true and (R) is the correct explanation of (A).
(A) 2_1b (R) 2_1b &if], InMmmiLd (R) (A) && Fiflwime eNlenga&InmEGLD
C: (A)is false (R) is true.
(A) saum); (R) &1
D : Both (A) and (R) are true but (R) is not the correct explanation of (A).

(A) 2_1b (R) 2_1D &, 84,e0Tm6eL (R) (A) H&& Fiflwmer ellend:&0MsIgl

An invalid means of conditional reasoning (If P, then Q ; Q is true) is known as

2LMHMUMHM QFWELLITH 6T6TD BlLUBSMETS &abmi, @UILgub Siflwin@&mE [P UIMG Q eTermmey Q &ifl]

A: Affirming the Consequent
aflemeTemel 2 MISLILIHS SISV
B: Affirming the antecedent
(PTG 2 MIHILIH G SISH60
C: Atmosphere hypothesis
auerflL06or L6V & (1HHI G & melT
D: Algorithm
usMiflsh
Assertion (A) : Meta components are "executive " processes used in the planning and monitoring of a task. Knowledge acquisition components have to do with

how we learn or pick new information.
Reason (R) : Many errors in reasoning tasks appear to stem from problems in encoding.

Fa MMl (A) : "QOLLIT" G MIGET 6T6dTLIEMEY, 62(H Lievorlulledt B L LGS0 mmih FFlUMFEE5e06) LweTURSSLILHILD
"BlIFeUM&HE Q& W6 ENMEBET QL&GLD. M6y CLIMICUSH G TS Fn MIGET 6T60TLIEME BITLD 6T6U6U TN SMHMMISGMTLD, LoMMILD
LW SHa10&m6eTs CoaflEHCMITID eTedrUIS Limnuls!.

&ITyeooTld (R) : UGS SMall Liewnflgerfley gmLu@GD Blemmuwisd SeaimisseT, GMuib L86@& 56060 gmu@G b & 886960 H S
clemerealenr gy Lh.

A: (A)is true but (R) is false.
(&) &1, 2permed (R) Seum
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B: Both (A) and (R) are true and (R) is the correct explanation of (A).

(A) LDHMILD (R) @TeoorGIGLD &Il InmMILD (R), (A)-&@& Fiflwimer elleng&LInmGLd.

C: (A)is false (R) is true.
(») s, R) &ifl

D: Both (A) and (R) are true but (R) is not the correct explanation of (A).

(A) LDHMILD (R) @ Te0oT(BICLD &F1fl, 84,6016V (R), (A) && Ffluimet ellendaln 9,85 Mg

Match comrectly the type of heuristic characteristics with thelr comesponding

explanation.

1. Means-End Analysis a.
2. Working forward b.
3 Working backward o
4. Generate and test d.

Problem solver starts at the end and fries to
work backward from there.

Problem|solver generates altemative course of

action and then notices which course of
action will work,

Problem solver analyses the problem by
viewing the end and the goal being sought
and then decides the solution.

Problem solver starts at the beginning and tries

to solve the problem from start to the finish.

£CG lamhlEsnul [Herer amdiflavigs LTl SenaT, susugl LUmsHls0
GamRssnul(Hlsrer aflers s s EnLsT Clumm S5 sE.

[l @ uelumisy {a)

(i) erGermaLl Gausmen (1)

(i) NerGemradl Gausmew ()

(iv) e (peurssl mmib (d)
uflGergliug)

Az (D), (2)-(b), 3)-(d), (4)-(a)
(® - (¢), (i) - (b), (iii) - (d), (iv) -
B: (1)-(d), (2)-(b), 3)-(c), (4)-(a)
(©) - (@), (ii) - (b), (iii) - (), (iv) -
C: (1)-(b), (2)-(c), (3)-(d), (4)-(a)
(@ - (), (ii) - (¢, (iii) - (d), (iv) -
D: (D~(0), ()-(d), 3)-(a), (4)-(b)

SipFdlen s &5 Srey SmesorUsur,
Sleresll@ha 2 rbllss
(peirGenrrs£lg GlFsoElmmy
SyFdlen s s(:8 Hiey SmesarUsur,
usus)ﬂg,mrrm STeymenemuyb syeudl
SITihs Anbs Bewe

S LGensE ﬂamﬂ_gﬂeﬂmmj
d]gsé]smm&ﬁ@g, Biey esrreml_lﬁuly,
sreireut el HLomenT (Pigey, sTUiLg
@r_rﬂa&@aarrsmm SyEmLIL Gsusnw@m
sTeiTLIEMBU|LD el gy rmlma, et
Siey smsnmdlmy.
Sipgflen s s(HS Hiey SmesorUsuy
Wp5eblsh STbNSE), SaLF asny
2ieudl gy rmilngl, VrsFflenersEs
Fiey smeaTdlmmy.

(@

(@

(@

(©) - (¢), (i) - (d), (iii) - (a), (iv) - (b)

The tendency to pay attention primarily to information that confirms existing views or belief is known as :

JM&6TCaI HML (MUl @ HEHG LD P bHemerll CLIMEEGS6T LDMmMID BIDLIGEm&E&H6T GMES QF LIS &6T 15 915 586

H6U6TID QEFIGHSILD L06OTLILIMEIENS @) LILIQU|LD Q&M6U6V6VITLD.

A Belief
BLON&ms
B: Hind Sight
LN etTemievor e
C: Mood states
LOGOTBl6m6V [B61)6V 8 61T

D : confirmation bias

2 MIHILOSSISE FTiL
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A is coded as a relation and a set of arguments specifying an assertion that may be true or false.

@@ 2. MaI&s GUIUILLILLL ), IDMHMID SIS 6UTEG6UTSHEI&6 6T QS TGLILMGLD, GLID I8 @ &flwimeor
I6V6VGI HAUMITET FnMEMME CHMIQL (H& &ML LEVITLD.

A: Reason
660TM| D & TEOT &5 ITJ600T LD
B: Assertion
R6TeNM 2 MIFNUINTES ST (HSH6
C: Proposition
e M6 ey
D: Premises

R UTHHH 6T G LILEOLUWITES MDD Fn Dyl

Which of the following are blocks to problem solving.
A. Mental set, perceptual set.

B. Emotional Block, Forgetting.

C. Distractions, Mental set.

D. Functional Fixedness, Emotional Block.

Ny&FReneans & s Bie6] STerTLSN &GS S0 L WITS @) [HLILIGTS 6T60)6U8606TF Q& TeV6VEVITLD ?
A. LD6T |emLDLIL], LI6VEDI6toTT6Y S QS ME&LIL|

B. 2 6uoT6US SEOL, LOMGS6V

C. H6U6TEF F1FHMEVS 6T, LDEOT S{6mLDLIL]

D. QFWeLITL(h Blemeusd S 6Tenin, 2 60T eSS 6oL

A: AandD are correct
A-WJLD D-w1b Fiflwimersl
B: Aand B are correct
A-WLb B-wjtb slwimeorg!
C: Aand C are correct
A-wjlb C-wb Frflwimeotgl
D: D and B are correct
D-W|1b B-wLb Fiflwimersl
Who is associated with the idea that core of intelligence resides not in one single factor but in seven such factors.

Tletorevor M e 60T 21q LILIemL 62(H S TT6ofluiley @ 6Vemev, LDMMITS (LD S ITT60u 156160 2 66! 6TedTM & (HSH S5 G S
QSITLIFLemL W6 WITF ?
A: Thurstone

SIT6rVLL6oT

B: Spearman

eruLlwiF GLoedT
C: Guilford

RVSCUMTTL
D: Cattell

G&HL L6V

The triarchic theory is proposed by .
(W&HCHMeTE: GHTLLTLemL (et Qmbgeurfler Quuwiy

A Gardner
SMTIL6oTTY

B: Cattell
GamL L6V

C: Sternberg
GVELFTQLITE

D: Thurstone
SI6rvL_Ledr
A is the universe of all possible actions that can be applied to solving a problem, given any constraints that apply to the solution of the problem.

RO FEHNGES BI6Y HMT600T, 3I600TL 5 H Q66T 356 QF WeMHMESHEMETWD v MBS O5fley QFwIgTey,
3| &H6M60T @) 6)6UTMI DEMLPESHEVTLD:

A': Heuristics
aneiflenig & e
B : Il structured problem

SAIMTHS &L LaNnGSLILLL FEHaH600
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C: Problem Space

F 5560 60T @LLD
D: Well structured problem.

H6T& HLLennGSLILULL PEH5H60
Assertion(A):

Learned motives often are called as social motives
Reason(R): They are developed from social (environmental) interactions

Fa MMl (A) : HHMEV CBHITESHMIGET GQLIBLILITEILD Fend GBITE: S MhIGET 6T6iTMI 26008 & LILI([H S 60T M 6.
SITI6uTLD (R) : {606 FENG (SHMIF EGLP6V) QML TLIG&6 60 [BH S euerTyHg 6ot

A: (A)is true but (R) is false
(A) &1fl yeTTed (R) SHoum!
B: Both (A) &(R) are true; and (R) is the correct explanation of (A)
(A) InHmID (R) Fifl, @revor@ih &ifl, nmmiLd (R) etedT LI (A) Wlett &iflwimest eflem& & InME& WD
C: (A)is false (R) is true
(A saum; R) &ifl
D: Both (A) & (R) are true; but (R) is not the correct explanation of (A) is correct
(A) DHMILD (R) @ retor(D &ifl, 2b,eormel (R) ou601& (A) ulledr &iflwimeot efemaasin {6v6v eTedTLIG &if]
Which of the following statements are true about Raymond Cattell ?
1. He was born in STAFFORDSHIRE-ENGLAND

2. He developed needs theory of motivation
3. He distinguished between common traits and unique traits.

GrneoTl. G&LQL6v LmMIW LleTeaudLh sammigerfle 615 2 etoremin?

1. 96U @mIGReTHE 6T 6L MTSCUTTL emaquifley LImbsmT

2. el 2 551569607 CHemeudCSHTLLIML ML 2 ([HeUTSSR6TTT

3. j6UT QILIMSIEUTEOr LIGuoTL| &6 LDMHMILD &60fl8SI61L0TeuT LIcuorL| 8606 GeumiLi(h &S 6oy

A: 1only
1 LG
B: 1and?2only
1 MmmId 2 L HILD
C: 2and3 only
2 10MHMID 3 L (D
D: 1and3 only
1 LHMID 3 L G0
How many stages are there in General Adaptation Syndrome (GAS) ?
QUME HWaueL CHITUIS GMIUNey (GAS) 6785 6M60T [H160)6VG 6T 2_6iTeTeuT

A: 2
2
B: 3
3
C: 4
4
D: 5
5

Out of the following, which is not the type of imitative behaviour given by Miller and Dollard
etteu B eustrelmmlev, 67g1 LAl6V6LT LMHMID QLML aupmIGIWw UMl HL GG 6UeN& 3|606V.

A': same behaviour
365 BLHMS
B: Matched dependent behaviour
QUITBBHW FTTL L SHOS
C: Copying behaviour
UTf$8l BLEGLD BLEMS
D: Correlative behaviour

QSTLIJLETET BLSHMS

Which among the given option is not identified by Zuckerman as four components of sensation seeking

Q&EMH&SLIILLL eN@BLILMGS6T6 2 6urie] C&HL 96T BHITEE FoMIGHETTSH 85588 FGLOGITTE) {60 LUITETLD &MeuorILIL THS 6T517.

A': Boredom Susceptibility
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FeOlLIL| 2_60uT([HLD S60TemLD
B : Inhibition
shLY
C: Thrill and adventure seeking
Siflev O FTeHF G5 H &6V
D: Experience Seeking
S@iLIeD CHH'S6V
Who rejected the words self and ego, and chose to use the term proprium ?
FUWLD LDMHMILD FES&IT 6T6dTM QUMTS MG &HemeT BITma g s, Lpmiflwlb eerm QFmeveneull LWeTLNGSS CHIHOSH &S el
Wiy ?
A: GORDON ALLPORT
SITTL60T QL60CeMECUIMTL
B: RAYMOND CATTELL
Gyetorl. GaL L6V
C: HANS EYSENCK
91,6076 &3 QFMhIG
D: PAUL COSTA
LImeL @& mervLim

Who introduced the term Homeostasis ?
wry CammilGuwimenLmendlen eTedrm Q& mMevem eV MW SLILIGSH WS ?

A: SIGMUND FREUD
F & 1nevor LNgmuiil
B: WALTER B CANNON

QUMEVL T LY G 60T medr
C: ABRAHAM MASLOW

2 LNramb menGeurr
D: ERIK ERIKSON
6118 erifl & & 60r
According to and the efficient form of learning is through observation learning and imitation

MHMILD ULy &MHMeSeT HmenLnWImeT allgalld &aleoflliL] &MHmev mmILD LN6TLIMHmIS6.

A Albert Bandura & Richard Walter
SLUUFL UMesoT(M T MM flFFTL eumevL [
B: Miller & Dollard
16V6VT LOMHMILD L TeV T
C: Skinner & Miller
e & 6iTeor i LOMHMILD LlevevIT
D: G.W. Alport & Bandura
oSl N6TWw,. 2j6vEUMTTL LM milD LImesor(H\ T
People high in internal locus of control are:
P& 2 6TCHTEHS &L HILILTL Q60 2 _6T6T L0 56T :
A Don't believe that they can change their situation through their own efforts
SJQUTGHET HBIGET QFMTHS (WLWMHFIWLITE FHHBIGET BlemeueanLDemW WOTMHM (LOLGU|LD 6TETMI HLOLIMTEH 6N
B: Less likely to have emotional problems or become alcoholics
2 aorfERAL NJFFeners: 6T 90eval GIQLILNGSESHME SeTMTEGWD aUmUILL] Genme)
C: Prone to develop learned helplessness
SHMMIBS 2 FelMm HeTemnDemU QUETFEGLD euTulLL
D: Have little influence over the events of the world
2 &6 BleLpayS&6TIeL AWML QF6VaITEE 2_6TaTel & 6T
‘Who proposed shadow ARCHETYPE - the dark side of personality ?
BIL6L S THOLIGLT SY,EBeMLDMLL - G\ [BTL LIS&HEm & 6T QMBS el Wy ?

A: CARLIJUNG
SITH6L WL
B: ALFRED ADLER
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SpVSLITL o eu
C: SIGMUND FREUD
FlaLoevorl LTIl
D: HENRY MURRY
Qamerml wien
Assertion(A):Directive leadership is indeed associated with poorer decision
Reasoning(R):Subordinates sometimes feel too weak or insecure to speak up
Fahml (A) : HLLeneTWIGH D Semeven il meorsl 2 evoremnufleh GLOMEFLOmeoT ST meof]LiL|LedT QS TLTLI6mL IS,

SITI6uoTLD (R) : BLpBlemeuL] LIwoflWMeT g6 Flev &Finllmkigerfley Lieuelernmeral & e e 260608 CLSaISMES LI
UMSISTLULMHMEUT&HETTE 2 600T T H MTISHET.

A: (A)istrue, (R)is false

) &1l (R) Seumy
B: (A)is false, (R) is true

(A ey (R) &ifl
C: Both (A) & (R) are true and (R) is the correct explanation of (A)
(A) LDHMILD (R) @ TeoorGCLD &1l ; (R) 24607 (A)-60T Fiflulmeor ellengs &l Sb,G L.
D: Both (A) & (R) are true but (R) is not the correct explanation of (A)
(A) DHMILD (R) @Teior(GGL0 &Fifl ; 96076V (R) 24,60TS! (A)-60T Fiflwimeot eflengs LD @) 6vemev.

Effects of social arousal occurs in the following sequence

1. Arousal

2. Strengthens dominant responses

3. Others presence

4. Enhancing easy behavior

Fen eTWER W6 allemerelser Gpss sl alflensuwiley Bl&L&HMSI
1. 6T &R

2. GLOEVITH G SI6VEIGE0)6V 6L EVIA T G560

3. IDMHMEM UG ETI 60T LIMTemnal

4. ererflg meot HL G Heml CLOLDLI(D &SI 60

A: 1,3,2,4
1,3,2,4
B: 3,2,1,4
3,2,1,4
C: 3,1,2,4
3,1,2,4
D: 1,3,4,2
1,3,4,2

Which of the following explains that the individual tends to infer others' actions / behavior as a result of their disposition, even though there is an obvious
presence of external causes.

QauerflliLIemL_& SMTIeThIG6T Q&eflauns @hbsCLTHaI, 2 Heofl 106l S56T 2i(h &6l T8 66T Q&FW6VE6T / HL 560G e
Sjaurauifledr e Eleneuuiler elemere) eTeor 261H &8 (LD6MEOTEUM S & B LD &8 600TLemeaugerfley 6151 ellens:GRmS! 2

A Self serving bias
& GFem6U FML
B : Conformation bias
@)\60oTE: G D FITTL

C: Correspondence bias

R55 EMHL
D: Confabulation
GLPLILILD
The refers to the ease with which specific attitudes can be remembered and brought into consciousness.

GTETLISTaUG), 6Tl G MH GMILILIL L (eI (LDemmen Blemeorew, Jaugiin, 2 6ol Fall6l G1&metor(h 6UBeUSID LG LD.

A Attitude extremity
VSN 2_FFDHl6mey
B : Personal experience
SeoflILL L oeggiLieuln
C: Attitude accessibility
SITWIGUEOD DLV G600
D : Strength of Attitudes
2| EBS MM UINEOT UG




"Explicit" thinking that is deliberate, reflective and conscious is
2 6TGBHITEHSSSIL 60T Fnlqll, LITH LGSR M MHmID 2 6T Fel6Ter "QeauerflliLienL" &) hgen 60T 6T6iTLIG

A': Autonomic processing
S60TE0T I8 Q&FWIeVTESLD
B: Availability heuristic
FenL_ &G LD HeTemlnwlmenr amulifleuig s
C: Counterfactual thinking
2 GITEMLNE S TH T [Blemev &b S 6v) 60T
D: Controlled processing
SLOLUUBSSUULL QFW6VMEHSHLD
Forcing people to choose whether to give intense shock to someone else can be an example of

HES RMHEUBHSHGS T SHTFR QHMT(HEHSEITD TaTLMGS CHTHASHLILSMEG D& ST
SLLTWILG S SO SH6TLSI 60T @ 2 GMJ6UorDd @& LD.

A Mundane realism
@)61U66VS WSHTISHSHEMTSHLD
B: Experimental realism
CFMHEN6UT WSMTJEHSHEUTHLD
C: Deception

FLMHMISE
D: Random assignment

Ermm BlulSse
Malch the type of leadership with their key characteristics

TYPE OF LEADERSHIP KEY CHARACTERISTICS

1. Democralic Leadership a. Leader who influences. stimulate intellectually
2. Autocralic Leadership b. Leaderwho direct group toward reward. desired behaviour
3. Transformational Leadership c. Leader empower group, allow others to participate
4, Transactional Leadership d. Leader make decisions .won't delicate any power

HENEVENIDSFI6U EUEHSHHEMEN, SN (Pl

(& & Wk & (gL 65T GlUm(hSH1%:
HENEVENLS 56U UM E (p&EEW GewndlEwid
) @erBIus Tl (a) SDeUTTHSWNE
&ENEVELDSSI6ULD st [Hlelm, Glasvsuns s,
CleasHgI&m seneusuly
i) eCxE sdlanns (b) Gugemeu Ufle, sflmLULILLTEST
&HENEVETILDE S)6ULD BLESMSMW CHTe S
ClaaysHsih SHemevaurf

(i) SIS GESS BMVMDSIZEUD  (c) HUPSSH
B\ &nTweflsEw,

LDHDeUHSE Unblshés
sumiiuefleELh Semsveu]
(iv) ufleujsseneans (d) Smenns ykleufbla@w,
HENEVEHILOH HI6ULD WTHLEILD SIS SMTHmSL
&g Hemsveul

A: 1-b,2-d, 3-c,4-a
(@) - (b), (i) - (d), (iii) - (¢), (iv) - (a)
B: 1-d,2-c,3-b,4-a
() - (d), (i) - (¢), (iii) - (b), (i) - (2)
C: 1l-a,2-d,3-c,4-b
(@) - (@), (ii) - (d), (iii) - (), (iv) - (b)
D: l-c,2-d,3-a,4-b
(@) - (¢, (ii) - (d), (iii) - (a), (iv) - (b)
Which phenomena explains that individual modify his /her attitude or behavior in order to adhere to the social group or normative standard ?

560l 106011 S 60T HEUTHI FeLNGHS & (WD SIVeVGI HL GG N (enmenwis SemL Ll LN LILSMETESS &60Te0l ML LO60TLILITETEn L0
3eual BLSMGUWIL THMEHNS gHLBSHSH Q& TeTelans 6ThS BlaLpe] ellendh:GRMmS! ?

A': Peer conflict
&5 GLOMSHeV
B: Conformity
R5SILCLIMH
C: Social roaming
Fen&5H B
D: Social competence

FeLNEG pMMEY

The use of strategies such as flattery by which people seek to gain another's favor is
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WHLUUSLFR CUTETM WHH &L LWeTUB S, 106567 2h &SI BHS SIgnevshansLl QUM BT{H6US, 6T6TLISI
__ &eW.

A Impression formation
BHSSIL LF 6] SDISH6
B: Ingratiation
@n& rredlGuiag et
C: Complimentality
BIFlLsS SetTemin
D: Informational influence
F&HEU FHTHSHLD
Assertion (a) : Self-efficacy is beliefs about personal competence in a particular situation.
Reason (r) : Non-attribution to the ability, effort, choices and strategies of individual is a source of self efficacy.
FaMmi (a) : &l QFWLHMET eTedTLIG! 2B GMILILIL L @G pBlemevulley, SeoflliLil L Gmedt QeuarflliLi(GID 6T6dTm HLOLN G605
QGLD.
SITI6UOTLD (r) : RHEUILLD 2 _6Tem @ MmMeL, WWMH), ellBLILIS CST6L&H6T, QFWIG) HLLMIg6T GLITETM LIGUTL|5606TS &(H5H 6V
QS METETITINE @) (BHS TV, S SlaUflLLD & Q&F W6 HMmeT GUBLILSMNES SSTTLNES M0,

A (a)is False (1) is True
(2) SOUD, SHEOTITEV (1) FIf]
B: (a)is True but (r) is False
(a) &1f] 2pE0TITeL (1) Heum!
C: Both (a) and (r) are True ; and (r) is the correct explanation of (a)
(a) 2_1D (r) 2_1b &1fl, InmHaILD (1), (a) && Fflwmer eNleTé&ImGLD
D : Both (a) and (r) are True ; but (r) is not the correct explanation of (a)

(a) 2.0 (r) 2_1b F1f], QLETM6V (v), ()& Fiflwimeor elleng:&InME TS

Dialectical Behaviour Therapy was developed by :
QUBIRWE BLEMSF FRFaaFan il HMWsLILBGSSH WeT

A Jeffrey Dahmer
Q&M GLLDF
B: Aron Beck
24, meT QL&
C: Marsha Linehan
LOTFaq M 65 60r8 60T
D: Russell

Ten6L

Arrange the levels of understanding of emotions in sequence.

1. Developing separate categories for positive and negative emotions.

2. Do not understand that two feelings can co exist.

3. Integrates sets of positive and negative emotions.

4. Describe conflicting feeling towards the same target.

2 eorfER ST LlHS Q&MeT@bLd BleneussenerT aulflensliL{G & SH6LD:

1. GBFLOEmM DMMILD 6T FLOEHMUITET 2_600T [T & &) & 6m 6T 6015 S 60f WIS euen & LU1LI[H & &I %560
2. @T6voT(h) el IDMEtT 2 60T FERSHET et CFTH S @) HEHGLD eTedra) LiflH & Q& MeTeTTenLn
3. GBILENM LMHMILD 6TH [T LDET M UITET 2_600T 7 & &) & 606l 62 (1h il ) 60) 60T 5 & 60

4. @G @ eVEHM& CHMEHSIW (LNFesorLITLTeor 2_evorJ&&F G emem aflauflg 560

A: 1,3,2,4
1,3,2,4
B: 3,4,2,1
3,4,2, 1
C: 2,1,3,4
2,1,3,4
D: 4,2,1,3
4,2,1,3

Malfunction of a particular Liver enzyme leads to :

@M GO L 56065760 QBTH), BLh& s QFWIPLILES QL OF QFRmaI

A: Down syndrome

L6 60T Flevor_Grmid’ (LneuT 5edl6y)
B: Fragile X syndrome

Be9HS X CHITUISASH TN
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C: Phenylketonuria
SQUeolev Q&L CLmBlw,flwm
D: Oppositional Defiant Disorder
TRTLIMU THFSHGLD CoHmermmi
Which of the following statements are true about instructional support in classroom climate.
I. Activities and discussion promote higher - order thinking skills and cognition.

I1. Warmth, mutual respect, positive emotional connections between teacher and students.
III. Consistency in providing specific, process - oriented feedback and back - and - forth exchanges to extend students learning.

GLILmDE G606, HMlemISSH6 ETe| QSTLTLITET 6The SaMHmI(&6T) FFlWTs @HeHGLD ?

. uGLILmME QFWLTH&EHLWD, allelMs k& EbLD, 2 WISTF Fibsen6ars S menerw|h, Silemhmenewbd aleTisESH M.
2. S|6OTLITET 96001 (& (emMm, LITevLT HLILEQHTH SHS6, 2R WS GLD LOMeTel & Ehe @D G)6mL G e CBFLIemnm
2 GUTTER @) 6 6uorLIL|& & 6T

3. &OIUILUUL L QF WM FMTHS & (55 S5 M6 [B160)60&60T6mLOWL 60T Q& TH &6V LOMHMILD LOT6T0Te 7861l 60T
&MHmedlev (nestenild LNedremutd Lflnmai &6 & meiTerev.

A: Tonly
1 LW
B: TandIIonly
1 LHMID 2 L GIW
C: TandIII only
1 LHMID 3 WL G0
D: 1II and III only
2 oMo 3 LI
Effective training for phonological awareness includes :
(i) Blending
(ii) Segmentation
(iii) Decoding
60lL1L NI 6006 & 8 et LIWLIslaTerm LILIMHE) @) &em60r 2 6TermL_ &5 Wi gl
1. 656V

2. g s60
3. ®nlellevg s

A: (i) only
1 LG
B: (ii) and (iii) only
22 b3 2 bl GLW
C: (i) and (ii) only
l2 1022 bWl (pLD
D: (i) and (iii) only
l2. b3 2 1bwl@w
Which was the original name of Albert Ellis's therepeutic approach ?
eULITL eTeu6e0leril 6T PR Fem & 2|51 & (WP enMUN T SIF6 QLW 6T6dT60T ?

A': Rational Psychotherapy
UGSsMe 2 earallllc) NG &ana
B: Cognitive therapy
sifleummmeh P& Feneg
C: Self - instructional therapy
FUW 9flemisHe ARG
D : Rational Emotive Behaviour therapy

UGSSM6 2 aurj&d BLSMG ARG g
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In order to age successfully people must maintain a balance of continuity and change in both internal and external structures of their lives ; it is explained by,
QaUMHNIGTLIONES (LNSIEDLD AL AISNES, LDSSHET SHHIGET 2 6T (nMHMID Qe &L LenlnLiL&erl 6T 506065 6Tanin M mild
WLIHMSHHGLD e ull6h FLOBleme e alens ell6Ts & e6lS!

A: Continuity Theory
QHTLIFHS CaHmLum@
B: Disengagement Theory
FRUTH elevsey GamLium®
C: Activity Theory
QFWLLTL(H& GamLum@
D: Variable - rate Theory
wrlel&@ &0 CaTLUT®H

Watson redefined psychology as :
QML envedr 2_emellulenev @euaumm ellauflgsmy:

A Phenomena
Bl& ey
B: Pure Science
arw oMy
C: Neo behaviouristic Theory
LB W BLESWTeTy CamLLm@®
D : Non deterministic humanism

BiwneflesslULTS BLEMS

Arrange the Transtheoritical model of change in its correct sequence.
1. Preparation

2. Precontemplation

3. Action

4. Maintenance

5. Contemplation

WrHmsHer L rmerevGSuw il ig&ss60 S flenw oiser Fiflwmer alflengulle o (G &&aln.
1. Wy Q&F g6

2. (LD 6IT Fb &6t eT

3. QF WP m

4. ugmwiflggev

5. 9,GeumgFemeoT

A: 1,2,3,5,4
12354
B: 1,2,3,4,5
123.45
C: 2,51,3,4
25134
D: 2,1,5,3,4
21534

Given below are two statements : one is labelled as Assertion (a) and the other is labelled as Reason ().
Assertion (a) : Keeping systolic blood pressure under 120 is best.
Reason (r) : Of the diastolic blood pressure and systolic pressure, systolic pressure has somewhat greater value in diagnosing hypertension.

FECLD @ T6oT(H M &E0 &S 6T Cl&M(H)E 8 LILIL(HETET6T : 60TMI FaMMITE (A) 6TedTml QUKL LILIL (DleTengi. MG mmesroy
&ITyeoorld (R) etedroy QUL GeiTengl.

Gahmi (A) : FleVLTe0S QUEHS WESHMS 120 &G6T MaUSH BLILS ADHSS!

SMTI6ooTLD (R) : LWELLMe0d @SS (WSS Hmih Fevlmeds 2WwHsh & weamnle FevLmelld SWs S 2 Wiy
ATSS AWSSSHMS ST MleuHley @reTe| E\S ELImL C\&TeT(H 6TeTS!.

A: Both (a) and (r) are incorrect and (r) is the correct explanation of (a)

(A) LDMHMILD (R) eTedTLIG Fifluievev LDMHMILD (R) eTedTLIG! (A) 60T Fiflwimeor elemgs &L
B: Both (a) and (r) are correct and (r) is the incorrect explanation of (a)

(A) DHMILD (R) eTedTLIg! &F1f] InMHomILD (R) eTedTLIG! (A) 60T Filwiment eflemadh&sin o{6v6y
C: Both (a) and (1) are correct and (1) is the correct explanation of (a)

(A) LDMHMILD (R) 6TedTLIG &ifl LnMMILD (R) eTedTLIGI (A) 60T Fiflwiment aflemdasLn
D: (a)is correct but (r) is incorrect

(A) eTeTL Sl &1l QL60TT6V (R) 6T6dTLISI &Fifluisvev
Fragile X syndrome is associated with which of the following ?

(i) Language impairment
(ii) Behavioural problems
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(iii) Moderate level of intellectual disability

(iv) Very high 1Q.

Be0HG X GBI G L6tTeueueTel ey 6TH6L QG TL LML WISI?
1. Qurmd Genmum@®

2. BLEOS F G566

3. 9nfley &y @uieumeniouilest LAGLOMeoT Blemev

4,188 2 WIHS B&HW (1IQ)

A (i) and (ii)
1 LoMmmILd 2
B: (i), (ii) and (iii)

1,2 0mib 3
C: (ii) and (iv)

2 LoMmMILD 4
D: (iv) only

EATMQ) )

Which of the following will not resolve conflict ?
LN edreumeusorau M6V 6T&! eLOT6euoT LIMem L S8 & MS1?

A': Fights associated with compulsory suspension
SLLTW @6l BEHE55SIL 60T QGTLITLI6MLLI &F600Ten L5560
B: Training in communication and problem solving
QSTLIL HmID FEHen6evs STLILS L LUIHS
C: Attempts to enhance empathy
2 aorjalflzame 915 &H&Es WWHFRERMSI
D : Modeling aggressive responses in media
o6& IS 6160 9,86 CTTagLOMeT LIS 60866 MS fluime &g ev

Which of the following is not related to achieving peace ?
NeraumealsralmmleL 6T&I FIDMS TSNS ML USMNE QS TLILIMLIIGTS G6Veme ?

A Contact
QsmLIL

B: Non - Cooperation
5 SI6MLOWITEMLD

C: Communication
HHaI6 QSTLIT

D: Conciliation
FLOIFLULGH S SIS

Gender is not simply a demographic category but :
LIMeSleoTLD 6TedTLIZI Qaumild 6B TMleml GM& @D 61U &IV 3y,60TIT6L,

A: that does not represent important psychological and social processes.
@8 (PSR WILDTET 2_6TalllI6L LDMHMILD FePs Q& WELNeNME 66T LITHBH & Siall1LH &5 el 6vemev
B : that includes the distribution of resources and power.
H6L QIETHIGET LDMHMID F&ETT NBICWTSLD S MHIGLD.
C: that does not include expectations for male and female behaviour.
21,6007 LOMHMILD QILIGTOT [HL& 60 &G MTeT eTHFUTTLIL] H 6L §)6Vetr60
D: those categories that are not interpreted and reflected in attitudes, social roles and organization of social institutions.

3B 616 & GET, LDEOTLILIMETENLN, FeNd LIMGSS IS LMHMILD &FeLds Bl M6l 6T mig e 6r ojeminliL]&erfley
aflemgasLILLa D, LTS LS &S G evemney.

Given below are two statements: one is labeled as Assertion (a) and the other is labeled as Reason (r).

Assertion (a) : Psychologically, poverty can be defined mainly in terms of deprivation and helplessness.

Reason (r) : The poor are deprived not only of the minimum adequate provisions for physical life, but also of adequate sensory, social and emotional stimuli
necessary for the development of a normal individual.

In the light of the above statements, choose the most appropriate answer from the options given below:

@\7evor(H) AN &S &HET B QGM(HIESLILIL (D66, 3iH6L R60TMI MM (A) 6T60T6 LD, LOMG MITEITMI &ITF6urLD (R) 6T60T6YLD
QUL LI [eTemeor.

Famml (A) : 2_emellwey FH WM LRI 6T6T LIS (&S WLDTES LIMHMTEGenm MmmID 2 gelluwmm Blemey eTeTesiin
QEmmHaeTme allengaLILGSR S

STIEOUTLD (R) : FENLNG6T, S6UTSHEBemL 2 WIJ 6UTLDE6M & & & TS & MbSLLEF, CLITSILOTET & Mg 60T ki g 6rfl 6ot
LIMHMTE G ML 6T @IBLILIS DL (HILDEVEVITLOE, &S TITE00T L0605 60T TS aleT TEF LIS M &GS G606 U TEUT SLDL|6V60TS: 6T
FMUbHS, FeNs MM 2 6T F&R LIL,Teus Sreuor(h&eder GmmLITH 2 60 L ILaIF&HETT&HE|D E)BHEHMTIEHET.

GLOM & 60T 2 M) & 60 &G 6fl6iT QG MILMS, Q&TH&SLILLH6TeT Lmhmiseleldhal, &b S&HE ellenLenls
CoIHES 0 &8
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A': Both (a) and (r) are correct but (r) is not the correct explanation of (a)

(A) LDHMILD (R) @ TeuoT(BHICLD &FIfl, @b,60TTeV (R) 2,607 (A) 60T Fiflwiment allemdaLh 2{6v6v
B: (a)is correct but (r) is not correct

(A) &1fl @peormev (R) Fifluisvey
C: (a)is not correct but (r) is correct

(A) Frflweveu gLeTmel (R) &ifl
D: Both (a) and (r) are correct and (r) is the correct explanation of (a)

(A) HMILD (R) @Tetor®GGLn &ifl, InMHmID (R) 24,6018 (A) 60T Fiflimest elleg: &b Sy, @&

is the main process by which social injustice is maintained.
6T60TM (PERW QFWVTESSH 6T eudlwins Fewnd SibSH urmnflssliuGamnal

A Social justice
Feps BH
B: Equitable distribution
FflF DD TEOT LITeU6y
C: Inclusion
2 GO & (& 56V
D: Marginalization

R815&5LILIH S0

Match List — 1 with List - 11 :

List -1 List =1
(a) Limit Computer usage. 1) Unlikely to feel a need to
use computer as an
escape
(b) Refrain from computer time to 2) Children become
reward or punish children. increasingly attracted to it.
(c) Model good computer (3) providing clear rules and
viewing practices. stickon toit.
(d)  warm and involved child rearing (4) Parental viewing patterns
approach. Influence children’s

viewing pattems

ulipwsd g ulpws || L6l QurmsEia:

U g uwieh | uigush Il
(a) sesilefl LweTurenL i BUSES, &aflaflanwl
surSiuayw uweTup 55 Ceusimigws
Ssiaudugens o ey
sumiSlsoansy
[b) GyebmssEEE 2) Gybmpsa sifh
Claugws Heflas IRl T i
SIVNG| HEATRES FissuUfElnnyser
senflafl Corgens
HeallTESEaD
[c) #pbs seflafl (3) Cgaflurar aflflssner
LN &S0 RUIOTIS, E60 WD DI
MERL (PSR MESENETT Siengy HleTunmise
wrglflurégsd
(d] SFTUTEST WHDIWD (4] QubCmmfisr
mRHumieTer Grhens e GemarmiLw,
SueT LI SIEEIE WP D Bybengmafisr
EemCamrmiLSenSu|b
urglafimg

A (@-3)1)-2),©)-@,(d-D
@)-(3),(®)-2). () -@, (d-D)
B: @-2),®)-03)@©-1),(d-®
(@) -(2),(®)-(3), (©)- (1), (D) -4
C: @-(4).b)-1),©-0B):d-2
@) -, ) -1, () -3)(d-O?)
D: @-1),(®)-®.()-2),(d-0)
@) - (1), () - @, (©)- (2), (d)-3)
Choose the right answer among type.
Which of the following is true about gender equality :
1. Most societies are not moving towards gender equality.

2. Peaceful societies seem to have progressive gender roles.
3. Gender equality is linked to less engagement in war and violence.

alen&&afley Fflwmer LFemeus CHIHOSH &5 LD.

umedleor FLnGSIeuGens Ll Limn Lereumeusreumnilev 6T51 2_euoremLn ?

1. QUIHLDLITEVITET FELNGMBIGET LIMeSer FLnGSlalG5ens CBhTHSR B Tallcvemey

2. |G UITET FeLNSBIGET (PMGLIMESTET LIMeSl6T LIS S Ihisem6Td: Q& meTlq (BLLSTES QSR MmS

3. Umedler FLng&leUL 6TedTLIG CUITH DMHMILD euedTpenmuiev Genmeurer FHLB USMHE G emneors:SLILGSH M.
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A: 1only
1 LG
B: 1and2only
1 LMHMID 2 L GIW
C: 2and3 only
2 10 MID 3 L GID
D: 1and3 only
1 lnHMID 3 L GIW
Pick the correct answer.
GRIT is a strategy proposed by Charles Osgood to deescalate conflicts. The full form of GRIT is :

Fflwumer UHmevs CHTHOSH &8N,
GRIT 6T60TLIGI GLOMG 608 60)6 & 6001188, FMTEV6N 24,6V &L 1960TM60 (ETALMAWLILLL (@ 2 55). IH6T (DWW ATSHSLOTETS),

A Graded and Recorded Initiatives in Tension Reduction
FCIOLL & QrssTFLL @eaflaflGuL 196l @) 6T QL 6iTageT 1L gng 6T
B : Graduated and Reciprocated Initiatives in Tension Reduction
RCIOLL & QueillICrmCasLLL @efladlGuiL 1966 @)6T G 6iTaqedT IflLgng 6T
C: Goal Reinforcement Initiatives in Tension Reduction
B&mev F@ 6T IGLIMTenGIn6uoTL. @) 6ufladlGuiL 19616 @)60T QL eoTaq.6dT [f]L_&wq 60T
D: Goal Reinforced Initiatives in Tension Reduction
B mev F@erLIGUMTevL. @ eofladlGuiL1g616M @) 60T QL 6tTaq.60r [f]L_ng 60T
Match List — 1 with List -1l
List -1 List - 11
(1) Psychoneuroimmunology (a) It is a set of more than 100 diseases
marked by malfunctioning DNA and
rapid cell growth and proliferation.
(2)  Type|Diabetes (b) It refers to the interactions among

behavioural, neurcendocrine and
imrmnuiogiccl processes of

adaptation.
3) Acquired iImmuno deficiency (c) Itis an autoimmune disorder
Syndrome (A1 D3} characterized by the abrupt onset

of symptoms, which result from lack
of insulin production by the beta
cells of the pancreas.

(4  Cancer (d) It resuits from the human immuno
deficiency virus and is marked by
the presence of unusual
opportunistic infectious diseases.

uligwed | g8 ulpwe Il ser Qurmias
uiigueh | i igused Il
i} wearmzsas sHUY Corliun  (q) Ba 100 &eb Cupul Epmusailsr Qsneluns. B
(eaCanBlwGrrEuwermagl) gﬂusﬁlwuq yerarg wHm eflenreurar BFe suanré—?
whHpb Qumssigra Grildsiub Hng

fi) suena i Gflfley Gomd (@l (b) BLEMS, FIUGrr asrGLTlenrer, wHpb CHrewBFoy
eLwSlizsn) Qrwsiypap BHE0sH LY gwunbhy s @ Cuwrer
Qemujysenars Hflafmg
(i) Csupw g@&q cugy Cauwisyll () ga samesmwgdler SLr Qeasar @erssbler o Huss
Ulsssf) (si@eneud(y) Goyyem FLWTESTR ghuBin ef ufEdsaferms
yaSlfwerd) Hemr Crmb (AIDS) umaLURBHIUBD SO BETEILS FTéss Canermy)
S (HID.
v YDmepmi (Casrsd) (d) & waflz CarQudlivy Eepun() esursiogsetler
enemey whmid @0 siergrres aumbiy Qzmbmi
Cpmiser HmemTiu{Ehib.

A: 1-b,2-c, 3-d, 4-a

() - (b), (i) - (c), (iii) - (d), (iv) - (a)
B: 1-a,2-b,3-c,4-d

() - (@), (ii) - (b), (iii) - (), (iv) - (d)
C: 1-d,2-c,3-b,4-a

(@) - (d), (i) - (c), (iii) - (b), (iv) - (a)
D: l-c,2-d,3-a,4-b

(@) - (), (ii) - (d), (iii) - (a), (iv) - (b)
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Match List - 1 with List =11 :
With reference to the Duluth Model (Domestic Abuse Intervention Programs, 2008)
List =1 List =11

(a)  Responsible Parenting 1) Mutually agreeing on a fair
distribution of work + making family
decisions together.

(=] Non - threatening behaviour {2) Sharing parental responsibilities +
being a positive non - viclent role
model for the children.

(e} Shared responsibility (3} Talking and acting so that she feels
safe and comfortable expressing
herself and doing things.

(d)  Trust and Support (4) Supporting her goals in life +
respecting her right to her own
feelings, fiends, activities and
opinions.

Choose the comect answer from the options given below Il

Hans wrdflenw (sfL{H susiiClamrflenw sensouil ([ SLn) sygluanLwns Qamss ()
uligwsv | gz ulipweb Il 2 Lsir QUMmSEs.

uiguie | uliguieo Il
(a) Qummiuret GrHasS (1) Csusmsvulleir Flwmwomer afliflCwrssHss ursouy
suemTUy 2 Leum(h hmib HHbU Weaysamar gaTns
BICEEEY
(b) SIFFNISHTS PLEOS 2) phens susTilflss Gurmiysensrd uflfbs
STET (5 H60 LHIMILD (HLPHSEEHSS CoIwenmn
suET(PEnMIWIMHM st&?mnﬂmun&.%@ﬂuw
(c) OQurmienu uflfhHs (3) Guarsug wHmib CFwsLIEsuSET Apeuld HsusT

GlarsmEm s urgsETIUrSsyD saraner Geusfluufss)
GClamemsuglso whHmib sflagwrissnar Glewsugls
auFSlursa)b e aarige

(d) mwlSms LHDID (4) urpsmSlN SaERLL s Eaamer
asflEze0 2z foug LOHDIL NUEHDLU QETHE
DGR 6Y &6, [HEtT L &, @sms’\;urr@&s’rr wHpn
BREHEEREETaT 2 flamwsnw wHoug

£Cp Gar@asiulBerer sflmuutisaialmha eflwrer sflenLsnw CaiHashssab.

A: a-1,b-2,¢-3,d-4
a-1,b-2,¢c-3,d-4

B: a-3,b-1,c-2,d-4
a-3,b-1,c-2,d-4

C: a-2,b-3,c-1,d-4
a-2,b-3,c-1,d-4

D: a-4,b-2,c-3,d-1
a-4,b-2,c-3,d-1

Choose the correct answer.

In the field of Digital Learning ISTE stands for

Fflwmer eflemLenwsd CHTHOSH\&H 5

Qe L6v &Mmev Slemmuiev, ISTE eTedTLIG! GMILILIS TeUS, G0,

A': Internet Science and Technical Education
@ 6T FQBL. Fulleirev & QL& 60fl&&H60 61830 G869 60T
B : International Society for technology in Education
@) 60T [T GIHE.60T60 QFMENFLLY &LIMT GL&60TTeVes] @) 63T 6TeI° G569 60T
C: International Science and Technology Enterprise
@) 60T [T @H 616016V FUN6dTeN & QIL_Gs6uTmeveldl eTevor L j Lilem reiv
D: Internet Science and Technical Enterprise
@ evorL_FQBL Fulletrenv & G\L& 6018860 eTevor LT LIlem Taiy

Which of the following statements are true for Type II Diabetes (risk factors) ?

a. You are underweight

b. You do little exercise

c. You have high blood pressure

d. You have a sibling or parent with diabetes.

Choose the correct answer from the options given below :

FEC QEBETHHSELILL G 6TT A& &ES&6Tle0 6131 alen s I FI&G&HmT NS (2L &Tyevofl&e6T) Limmlul &ifluwimer
allaquilnm@Ld ?

a. BrIG 6T Gemm eTemL 2_6iTermeu g 6T

b. BraI&G6T Fev 2 Louwilmd QFwISTser

c. 2 BIGEDEHS 2 WJ QIHS SWSHSLD 2 6Tens)

d. 2_mIGeT 2 LT Imbseall eveug QUHCHTHEHS Fis&HemnT alms) 2_evor@k

EC Q&ETOS&SELILL G 6Ter inmHmissefledmb s Fflwmer elenLenwisd CHIHOSHH & &:

A: a,b,conly
a, b, c DL (GO
B: b,c,donly

b,c,d DGO
C: b,donly




b, d DL (D
D: a,c,donly

a,c,d D@D




